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1. MDA 2A| 1 2022.10.08.(E) 10:00 ~ 18:00 / CHHBHA
2022.10.09.(2) 14:00 ~ 17:00 / H|CHHHA
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o TBEE YT tSLICH (AR U 2t AE StARR[4)

o HHYZ} F MF O|H|EAt= HE SUNR| HHZOA YrEA| A[ESIA|7] HEZLICE
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3. SR @hE HEEA 2 o4

= i ﬁagnj\_ al cH7|Al
SRIERE 7 S T /T Sagd
HEY = k=3 - A

ZEA™E 2 1206 2 1201 7810
CIX gt 5 1510 5 1503 7586
Ar2| S X[ o Bt 3 1316, 1317, 1318 3 1311 7527
ME2 A8 21t (=, 2 1218 2 1202 7506
G4 - ofL|mo]MetE 4 1414 1 1112 7532
=1} 1 1103 1 1101 7532
ZEHI 4 1425 4 1402 7529
7| A 2t 3 2317 4 2410 7371
Z1gedest? 8N 2 2204 2 2205 7618
| 2 OFEC At Q1 1} 2 2203 2 2201 7622
C|RtolstE 1 2115 1 2108 7602
gt ss At 1 2214 1 2101 7791
HE|AZIE 2t Tt 4 2417 5 2503 7689
FE[A2[0f 0] E{5tE ofl = 4 2406 4 24052407 | 7655
o|27|7|1t 1 2121 2 2206 7371
o|Z X2t} 4 2402 4 2401 7339
O MCIXQI - 2 =0t 1 2110 1 2113 7601
5l £ 4t 0f 1t 1 2105 1 2101 7791
ot= 0| 2211t 4 2423 4 2409 7645
Sf O CIAHQl 2 2302 3 2304 7337
A=l 2ot 4 3424 4 3417 7840
2 H ek OFF It 1 3117 1 3114 7801
AMEGYRLSHE 2 3218,3217 2 3215 7820
fotu st ALg| 2 3207, 3211, 3212 2 3201 7811
| T4 | e st | 3 3224,3324 2 3216 7916
= Af| 2 = of 3 3324 3 3317 7825
SEISIT QA TS = 5 350345 132?03550%51 1 5 3514 7860
M St 2 P 1 5304 1 5305 7890
FEEN =i e 3 5210 3 5306 7890
Lyl o, P 6 16609 6 16614 7591
AO{X| =t s 5 16511 5 16510-1 7658
S AMH[AZ S} SX 2 | XshE =ZHE XNhEs | 22EE 7800
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